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—'"75y "7 ppn ANY
And if one carves out in it an area of four 2°15v by four 0°15Y

OVERVIEW

"X taught regarding an area which is surrounded by mx°nn less than ten
0°mov high, and in a section of this area, a hole, '7 9¥ '7, is carved deep
enough that now there is ten 2°19v from the bottom of the hole to the top of
the mx°nn, then concerning Naw M7 the entire enclosed area is always a
"7, regardless of the distance between the original nX°rn and the (newer)
dug out mx°nn, the pprn oPn.

Pertaining to 71210 M2 however, in the above case it will only be a valid
1210, providing that the wall of the ppr and the outer wall of the 71210 are less
than three 2°15v from each other. If the distance between them is three o°rov
or more however, it is a 779109 71910, since we cannot combine the two N nn.
moon will explain the difference between these two n3%:1.

mooin asks:
— 7% 1113) NINRT NIVN NIV NI TUN 12 PNYY 13%39Y DY)
And the X"2%°9 has a difficulty with this 7235 why is n2w different from a

720 which is not high ten 22w, which renders it unfit' to be a 7ws 70;
concerning which -

— %Y AYYVNY DA PPN (191 NIVDT NP PI9A INT

The X 1) says in the first 9o of 7510 noon, that if he carved out a hole in

the floor of the 7210, deep enough to complete the total height of the 7310 to

be ten omowv high, then the 77 is as follows:

— N9V )1 MHIND NIV DNV /) YA PPN NoVnN Y BN

If the distance from the outer edge of the carved out area to the original

wall is three 2°mo¥ or more, the 700 is m90D; if the abovementioned
distance is less than three *2’mov the 7210 is 7ws -

— 11297 Y190 11 NIV 1PN NPIPN 23NN NN

' We derive from 2109 that 790 must be at least ten 2°190 from the ground.

? In many instances, when two objects that are within three 0n9v of each other, we apply the wn? 7997
»1on of 2%, meaning that they are joined as one. Here too, since both m¥>nn are within three o’nov of each
other we say 7137, that they are joined together as one continuous ;%11 of ten 2°mdv.

1

TosfosInEnglish.com



R "7 '0Nn 2,7 paw .7"o2

However here by naw, carving out is sufficient to render the interior of the
house a *"717 even if the carved out area is very distant from the external

wall, for the X3 here makes no stipulation as to the distance from the 7P pra PR to
the external wall. Why is there this difference between naw and 723107?!

ND0IN answers:
— 7907 MNMD MKINM 1NOY 139927 NIV 23) DNN INYYT NV
And the X"27 answered that there by 72w it is different, (than here by
naw) for we require that the walls of the 72107 be sufficiently close to the
720
— MOV NIV NIDAN MNINM (3, 9m DN 129D*T
because, there in 7210 noon, we derive, the necessity and requirements of

nxonn from the three times that the 7710 mentions the word n(Y)2® (that a 7510
requires three walls)’
- 730 MHIND NNYY 13533 5915) 19D MIDTH 11 TI23DN PN (3,1) BN 19°9INT

As the mwn says there, that if he placed the 720 at a distance of three
o°nov or more from the walls, the 7010 is 702 and therefore we require
that the distance from the Pprn noW to the 7191077 2015 be less than three onov-

— AP IV TO0Y MNNND PNIY 15 MNINNY PPN DY TN G 7987
since it is necessary to combine the height of the ppr with the mxsn» in
order that the walls (of the 7210) should be close to the 720 that is directly

above the 4,7,771-'! 2%, and we cannot combine these two walls (the outer walls of the
1210 and the embankment of the ppn) if they are at a distance of three 2’199 or more from
each other, only if they are less than three 0°mou apart’.

By naw however there is no requirement that the m¥m» be near “anything”,® therefore the
ppn and the Ym> are A wx» for a 7¥°nn, even if they are apart from each other a distance of

3 Since the requirement of three walls is derived from the words "m>10", which refer mainly to the 720,
therefore there is the requirement that the Mx°nn be 7507 Mo,

* Since that is the only 9w> 720, for it is the only 720 that is ten 2°nov above the ground beneath it. The 720
outside the ppr does not have o°nowv » KX beneath it.

> It would seem that if the distance is less than three o°nov, then by utilizing the 77 of T12% we drag — so to
speak — the outer walls towards the ppri, and we have " mx°nn that extend from the bottom of the ppn
directly to the 730, so that the mx°nn are 7507 mM2mo. If however they are more than three onow apart and
we cannot make use of 7127, then the outer wall cannot be ‘dragged’ inwards, and the m¥°n» are adjacent to
2109 790 (for it is less than ten 2°nov from the ground) and they are not w3 7507 Tno.

6 See (19102) M 7"7 2,7 7910 MBOIN who writes: MY MM 11°Y1a7 72109 027 P37 ynh XIW Naw M nT KT
790Y 7°310.
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three 2°1oY or more.’

mooIn questions the validity of this answer:
— TN 7T 1Y NIV DMIPY 19T 2) Yy 4N
And even though the rule of *7217¥ 1917 renders a 7210 to be 77> up to a

distance of four nNIAR; why is it then 72109 by a distance of merely three o’nov? Even
though the outside wall is adjacent to 7109 790, nevertheless let us utilize the concept of
Py 1917, and since it is less than N»R "7 from the outside wall to 9w 720, it should be a
77WwD 7210,

mooIn replies:
— ROV NYINN NIINT NI 199 930 ©7YN NY NI
The X"m3 in 70 ndon answers this question’ and makes the following
distinction: The rule of 7Py 1917 applies, only in the case where there
exist already proper nxsmn»
— NYNN NMYHT NN YaAN

However in a case where it is necessary to create a '3, then -
1909 71N RNHNT MENND OY 111900 99081 /N MNSa

If the distance is less than three o°’rov, then we can combine the
embankment of the ppn with the external walls which renders the nx°nn to
be sufficiently close to the 720 -

199081 XY 290

7 See 01w Nv0N who adds: X2°R7T ppnwa1 ™ MR PRT ROR 7177 ‘11377 ¥"RY YN MM MXnn W ROAT 5"y
0% R? A NP AT 9787 IR 79102 PaR "0 13 7R 23pna D IR, In our XA there are outside mxenn
that are ten 0°1ov (the outside walls of the house), we are merely lacking " 7"X inside the house therefore
the 7P P is sufficient to render the inside a *"77; however by 1210 we need to combine the 7173 to achieve
" mx°ra and therefore there needs to be less than three o'oY distance between the 717°3 and the 7¥°m.

8 The rule of 7Py 1917 which is a *1°on mwn? 7577 states; that if there is a proper 7¥°1n, however there is 720
2109 adjacent to the 7¥°mn, then the 17 is as follows: if the 7109 720 is less than nwR "7 wide, which means
that the distance from the “w> 720 to the 7¥°mn is less than Mnk "7, the 7210 is W3, for we say TPy 1917,
that the wall bends and curves — so to speak — and it is extended via the 9109 720 to reach the “w> 720, so
that the 7¥°n and the w2 720 are — as if — adjacent to one another. If however the 9105 720 is wide nR '7
or more, then it is a 79109 71210 because we do not say 7Py 1917, therefore the 73%°1n is not (WD) 7207 7210,
The 71577 of Py 1917 is only if the wall is adjacent to 2109 720. If there is an open space between the wall
and the “w> 700 then there must be less than three 0 nov of airspace; otherwise it is a 72109 71210,

? In connection as to why the 7773 must be within three 2°mdu of the outside wall, while by a (‘regular’) 1917
Py it could be up to NnR "7 distance from the w3 730. The X n3 there does not assume explicitly, that it
would be a naw v %17 as Moo assumes here.

10 As in our case, where the wall for which we want to say nmpy 1917 is, of its own accord, not a proper
7% at all, since it is 2190 "n Mnd. See ‘Thinking it over’ # 1.
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More than this amount we cannot combine = the 7173 and the mx°n» to be
considered as one wall of ten 2°15v [and therefore we do not say nmpy 1917] and it is a
77109 719%0.

SUMMARY

The m¥°nn of a 71910 are required to be 7207 M0, otherwise it is a 7709 71910.
Therefore if the distance from the ppn to the outer wall is less than three
o°nov, then by utilizing 725, the outer wall is joined to the ppn 7173 and
forms one straight 7x°nn which is ppra A"vw W 7005 . If however the
distance is three 2’15V or more, then the outer wall remains adjacent to the
9109 790, and it is a 77109 71970.

The mx°nn of N2¥ on the other hand, serve to separate the inner °"77 from
the outside ‘world’. The area of the ppn is bounded by 7wy mx¥ nn, through
combining the heights of the two nx°mn.

We utilize the concept of mpy 1917 only when there is a valid independent
7% 1. This outside wall is not ™ mM23 by itself, therefore we cannot accord it
the status of a Py 1917.

THINKING IT OVER
1. Is the 7109 by 11910 because the outside walls (which are "“» nno) are not a
7womn,'? or because it is a 7x°nn which is not 700 ‘[1730?13

2. Do we say 727 to extend the pprin 717°) to the outside walls, or do we say
7127 to join the outside wall to the ppri7 717°3? Why!?

3. What would be the ruling by a 7210 if the outside mx°nn together with the
700 are ten 2°19Y high and he was "% #°%wn% ppn inside, a distance of three

0°1ow or more from the Nxonn?'*

4. Can we say that 7127 is more effective than 7mpy 19172

' The two m¥’nin cannot be combined either by saying 7127, or alternately; by saying 7Py 1917.
2 See footnote # 10.

13 See a1 nw and wR nman.

' See (footnote # 7 and) "7 MK PX™MK N
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